—— A
N = 0] &F AF S & AN A
20209 = 20l A LB H SUlS
2A: sUS
HEM: SUHS AHEAHH]
Sl HYSXME HASY 2 oA LS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EN =S 357,660 397,630 A 39,970
SWsS AFE ] 267,090 310,570 N 43,480
HEEXNLAH HASE L HHOAIEXE 134,680 219,380 A 84,700
FOXXNAHSH 93,700 88,300 5,400
201 2Et2Hy| 15,300 15,300 0
01 AP 2t 2] H| 15,300 15,300 0
OHdgH&yg LBt=2H| 6,300,000 6,300
OfE4+< 30,000& x25%H x12& 9,000
301 et A =2 78,400 73,000 5,400
09 SHAIAHI X &2 3,000 3,000 0
OF0 XX /a5 L LLE=XNXCEH HAE
(13l) 100,000& *25%H 2,500
OF0UNXNEZ)H 29 500,000& 500
12 JIEtE &= 75,400 70,000 5,400
O AEE 75,400,000 75,400
FOIEHOI AL X & 40,980 113,080 AT2,100
201 Bt 38,280 35,180 3,100
01 AP 22| H| 5,380 5,280 100
OFANLRIHAIAL 2d= 155,000& ~12& 1,860
O A HIE HAH| 1,600,000 1,600
OFI|I(10H) & ZIJ|EAD|(304)ex=
1,920,000 1,920
02 2224 H| 32,900 29,900 3,000
OXeES Xl (2CH) 7,000,000& 7,000
OAFR &l 2t2| bl 2,050,000& x12& 24,600
QULE)|] SXIZ2IHI(HAE ) 1,300,000 1,300
203 € R =& 2,700 2,700 0
03 AIEH =X 2 F X Y| 2,700 2,700 0
OsUE SHYRAIH#FZX 2,700,000& 2,700
SclEtaaEsg A 131,150 89,390 41,760
S ESSE AR 131,150 89,390 41,760
301 et A =2 131,150 89,390 41,760
0B SHE -0 -EHEESEM= 131,150 89,390 41,760
Os&xH 300,000 x25H x12& 90,000
OsSHAMNH= 300,000 x25H «23| 15,000
Os&F &G 20,0003 x25H x235| x12& 12,000
Ot &= 50,000 «283H x 13| 14,150
=S =X PR F&X 1,260 1,800 A 540
S Atdl 22l A 1,260 1,800 AN 540
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